TH3E

EHIKES

B TAGH | 2A3H | 3ATH | 4AI9E | 5A128 | GA2E | 1A2IE | 8A4H_| 9AIH | 10A6H | 11AI/H | 12A15H
| 1250 1235 1410 1100 10:00 1435 15:20 1510 10:20 940 10:10 12:10
# b [ D FE L |FH DK D] KR D | K OD|FKR D[ DR D[HR O D[FR D
(] =2 f ) (] (] ] ] ] f ) ] ] ]
m|_0.91 7.02 0.92 T.15 T.06 T.08 111 T.02 1.10 1,01 0.93 0.95
m3/sec - - - - - - - - - - - -
2 m| 070 0.81 0.55 0.9 0.82 0.98 0.75 0.75 0.74 0.72 0.62 0.62
® m| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
" | 5.4 1.9 151 4.5 4.0 2.5 21.0 30.0 2.0 21.0 11.0 76
1l <[ a5 34 7.0 8.5 12.0 15.5 2.7 2.4 16.2 16.3 9.2 6.1
x REEH | ®EEH | REAY | KEEY | REE0 | REEY | REE0 | RESEY | KEEH | REEY | REEN | REEH
8 [F3 [F3 [F3 [ [ [F3 [F3 [F3 [ [F3 [ [F3
£ 2IE 2lmE RAIE 2|FE 2|l ® 2 | R E2lFE R2AIE A|E ElIE B|RR =2
o >100 100 100 100 100 100 100 100 100 100 100 100
P = = = = = = = = = = =
TE|pH 74 71 7.3 6.7 6.6 7.0 6.8 6.9 Al Al 7.0 Al
%%[BoD me/L|__<0.5 0.5 0.5 0.5 0.5 0.6 0.5 T1 0.7 0.5 0.5 0.9
XX (coD me/L| 0.8 T4 13 13 13 1.0 17 0.8 1.4 2.1 1 1.3
Aalss e/l 1 a a a a a a a i a 3 3
#g[DO me/L| 2.1 2.4 11.9 T1.2 10.5 9.2 8.1 8.1 9.3 10,1 11.8 2.7
PYES EEDAED) WP/ T00nL 2 7 9 700 770 730 920 3500 330 7700 40 540
B i< [REX /L] 0.4 0.39 0.40 0.27 0.38 0.38 0.45 0.50 0.4 0.60 0.62 0.45
LIPS me/L|_0.036 0.025 0,047 0.022 0.055 0.065 0,049 0,091 0.046 0.065 0.112 0.053
[ETEEES e/l - - - - - - - - - - - -
@7y e/l - - - - - - - - - - - -
e/l - B B B B B B B B B B B
6o AL e/l - B B B B B B B B B B B
e/l - B B B B B B B B B B B
e/l - B B B B B B B B B B B
A [FELEE e/l - - - - - - - - - - - -
n [pPcB e/l - B B B B B B B B B B B
® [SronAsy me/L| - - - - - - - - - - - -
= i3 [ - - - - - - - - - - -
g [Z57mazsy e/l - B B B B B B B B B B B
g [Li-SsmAzFLYy e/l - B B B B B B B B B B B
= [PRT.2-SsmAzzLy e/l - B B B B B B B B B B B
M [Li-FUsaOzss e/l - B B B B B B B B B B B
¥ [|il.2-rfu%oaxs> mg/L - - - - - - - - - - - -
% [FUZmpzIFLy e/l - - - - - - - - - - - -
% [FrszmEzsie e/l - - - - - - - - - - - -
% 1,3-¥%0n7axky (D—D) mg/L - - - - - - - - - - - -
m FoIh mg/L - - - - - - - - - - - -
m [T (cAm e/l - B B B B B B B B B B B
B [FARCARNTRoTAA—T) e/l - B B B B B B B B B B B
"B e/l - B B B B B B B B B B B
ELY e/l - B B B B B B B B B B B
CEEEEIAE LI EES [ - - - - - - - - - - -
HoX mg/L - - - - - - - - - - - -
B>k [ - - - - - - - - - - -
[1. a—SFxv> e/l - B B B B B B B B B B B
B e 7% N N T R EE S R R I I R
e/l 0.02 - 0.01 - <0.01 - <0.01 - <0.01 - <0.01 -
me/L|_<0.002 - <0.002 B 0.016 B <0.002 B <0.002 B <0.002 B
me/L| 0.3 B 0.35 B 0.32 B 0.39 B 0.39 B 0.48 B
me/L]_0.08 - 0.04 - 0.04 B 0.06 B 0.05 B 0.14 B
e/l - B B B B B = B B B B B
e/l - B B B B B B B B B B B
= mg/L|_0.015 B 0,028 B 0,038 B 0,041 B 0,082 B 0,063 B
S e/l - - - - - - 0.013 B - B - B
= me/L B B B B 0.041 B B B B B
it e/l - - - - - - 1.0 B B B B B
" m&/L = = = = = = = = = = = =
B ma/L - - - - - - - - - - - -
gl 2 - 5 - < - < - < - < -
well] 6 - 2 - < - < B < B < B
P70 - = - - - - - - - - -
me/L] _10.9 7.9 7.8 5.5 10 10 9.8 2 13 13 13 3
WR/m | 87 - 7 = 802 B 702 - 755 B 756 -
W@/ - - - - - = T = - = - =
e/l - B = B B B - B B B B B
FS>Z1,29500I70Y e/l - B B B B B B B B B B B
1.2-95AATARY e/l - B B B B B B B B B B B
P —SoRORTBY e/l - B B B B B B B B B B B
(IXIFEY e/l - - - - - - - - - - - -
FAFPSI > e/l - B B B B B B B B B B B
Jz=FAFt> (MEP) mg/L = = = = = = = = = = = =
EPFLTE P mg/L - - - - - - - - - - - -
TET VR (RER) e/l - - - - - - - - - - - -
pansa=j (TPN) e/l - B B B B B B B B B B B
B [FAEHSF me/L - - - - - - - - - - - -
2 R ErPm 7 - - - - - - - - - - -
% [CZEr®=z (oDVPe) me/l] - B B B B B B B B B B B
g [7z/7nn7 (BPMO) e/l - B B B B B B B B B B B
AIRRIKR (1BP) me/l] - B B B B B B B B B B B
JAN=FOaJxY (CNP) e/l - - - - - - - - - - - -
[ me/L - - - - - - - - - - - -
B e/l - - - - - - - - - - - -
FENBIIFAANFIL me/L - - - - - - - - - - - -
EPrI mg/L - - - - - - - - - - - -
TV I7Y v - - - - - - - - - - -
FoFEY e/l - - - - - - - - - - - -
Sk me/l] - B B B B B B B B B B B
[E5% me/ - - - - - - - - - - - -
KEH
1 B <2 0.2 0.3 0.2 0.6 0.5 0.6 0.7 0.7 0.7 0.3 0.2
ms/m - - - - - - 3.4 - - - - -
\/00n| 1 B 3 B [ B B B 7 B
zof T - : - 1 - 2 - 2 - 2 -
na/T - - - - - -
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